LINEAR MOTION TECHNOLOGY

ARC MS Series

MR B 3R~ (mm) 8 EE R~ (mm) B EE R~ (mm) BEGMKN) | FFHPE (Nm) £
B SRR AU 5748 %
H W2 | Wi | Hi P | Dxdxg1 W L L1 h2 P1 P2 |Mxg2 | M1 | T N1 N2 N3 E S S2 S3 S4 C Co Mro | Mpo | Myo | BEE(Q) [/B#l(g/m)
ARC 15 MS 24 9.5 15 15 60 |7.5x4.5x5.3 | 34 | 41.2 26 20.7 - 26 M4x7 - 6 M3x6.5 M3x6 ES) Si5) 4.5 7.5 15.6 16.7 7.7 12.1 100 50 50 106 1290 ARC 15 MS
ARC 20 MS 28 1 20 20 60 | 9.5x6x8.5 42 | 49.2 | 32.2 23 - 32 M5x7 - 8 M3x7.5 M3x5.5 P4 10 4 7.4 19.1 19.8 12.5 19.3 205 100 100 170 2280 ARC 20 MS
ARC 25 MS S5 12.5| 23 23 60 11X7x9 48 | 57.4 | 38.4 27 - S5 Méx9 - 8 Méx7.5 M3x6.5 P4 12 5 9.3 22.2 23.2 18.2 27.3 350 160 160 300 3020 ARC 25 MS
ARC 30 MS 42 16 28 27 80 14x9x12 60 68 44 35.2 - 40 M8x10 - 12 Méx8.5 Méx5 P5 12 7.5 12 27 26.7 23.3 33.1 520 230 230 560 4380 ARC 30 MS
ARC MN Series
ARC 15 MN 24 9.5 15 15 60 |7.5x4.5x5.3 | 34 | 55.5 | 40.3 | 20.7 | 26 26 M4x7 - 6 M3x6.5 M3x6 RS 35 4.5 7.5 9.8 10.9 9.9 17.5 140 105 105 158 1290 ARC 15 MN
ARC 20 MN 28 1 20 20 60 9.5x6x8.5 42 69 52 23 32 32 M5x7 - 8 M3x7.5 M3x5.5 P4 10 4 7.4 13 13.7 17.1 30.0 325 230 230 266 2280 ARC 20 MN
ARC 25 MN 33 125 | 23 23 60 11x7x9 48 | 81.2 | 62.2 27 35 35 Mé6x9 - 8 Méx7.5 M3x6.5 P4 12 5 9.3 16.6 17.6 | 24.8 42.5 540 385 385 420 3020 ARC 25 MN
ARC 30 MN 42 16 28 27 80 14x9x12 60 | 95.5 | 71.5 | 352 | 40 40 M8x10 - 12 Méx8.5 Méx5 P5 12 7.5 12 20.8 20.5 32.8 53.7 845 565 565 800 4380 ARC 30 MN
ARC 35 MN 48 18 34 32 80 14x9x12 70 [111.2] 86.2 | 40.4 | 50 50 M8x13 - 14 Méx10 Méx7 5 12 8 15 23.4 24.1 45.9 82.9 | 1700 | 1080 | 1080 1120 6790 ARC 35 MN
ARC 45 MN 60 |[20.5| 45 39 105 | 20x14x17 86 |135.5|102.5| 50.7 | 60 60 |MIOX17 | - 14 | PT1/8x12.5 Méx10.5 P5 14 1.1 18.1 27.3 27.2 71.3 122.1 | 3200 | 1910 | 1910 2120 10530 ARC 45 MN
* ARC 55 MN 70 | 23.5| 53 46 120 | 20x16x18 | 100 [155.6[118.6| 58 75 75 |[M12x20| - 16 | PT1/8x14.5 Mé6x12.5 P5 14 12 19.5 | 28.5 29.5 | 103.4 | 173.1 | 5030 | 3120 | 3120 3880 14060 ARC 55 MN
ARC ML Series
ARC 15 ML 24 9.5 15 15 60 |7.5x4.5x5.3 | 34 762 | 61 20.7 | 34 26 M4x7 - 6 M3x6.5 M3x6 RS 35 4.5 7.5 16.1 17.2 13.4 26.9 215 235 235 240 1290 ARC 15 ML
ARC 20 ML 28 1 20 20 60 9.5x6x8.5 42 87.2 | 70.2 23 45 32 MSx7 - 8 M3x7.5 M3x5.5 P4 10 4 7.4 15.6 16.3 20.4 38.5 415 390 390 330 2280 ARC 20 ML
ARC 30 ML 42 16 28 27 80 14x9x12 60 118 94 352 | 60 40 | M8x10 - 12 Mé6x8.5 Méx5 PS 12 8.7 12 21.7 | 21.7 | 39.6 70.2 | 1105 | 950 950 1138 4380 ARC 30 ML
ARC 35 ML 48 18 34 32 80 14x9x12 70 |136.6|111.6| 404 | 72 50 M8x13 - 14 Méx10 Méx7 P5 12 8 15 25.1 25.8 54.7 106.5 | 2185 | 1755 | 1755 1536 6790 ARC 35 ML
ARC 45 ML 60 | 20.5| 45 39 105 | 20x14x17 86 |[171.5(138.5| 50.7 | 80 60 [MI10x17| - 14 | PT1/8x12.5 Méx10.5 B5} 14 1.1 18.1 &5 85} 89.5 | 169.1 | 4430 | 3460 | 3460 3160 10530 ARC 45 ML
* ARC 55 ML 70 |23.5| 53 46 120 | 20x16x18 | 100 [202.5[165.5| 58 95 75 |[M12x20| - 16 | PT1/8x14.5 Mé6x12.5 P5 14 12 19.5 42 43 129.9 | 239.7 | 6965 | 5855 | 5855 4800 14060 ARC 55 ML
HLxhAERPIER 2RFAPEEEHEAERFER 3. N2 & B i i 5L 4. Nsh £ MAMORIE M E R
5. N2~ NsZEHHER » EmA R EHAGELETE
wiro My/Myo AR R RIFRE TR RISO1 47285 M © MAE BB

ot IAERSRIEEN > REEDAFTEARNESEET &

ccot ¥ creo






